MATH 3204

Rewriting and Interpreting Quadratic Equations


Complete the square and write using brackets.



*TAKE HALF OF THE MIDDLE TERM AND SQUARE IT
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Write in transformational form.

*GET RID OF CONSTANT TERM (# by itself)

*COMPLETE THE SQUARE (remember to add to both sides)

*WRITE USING BRACKETS
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Write in transformational form.


*GET RID OF CONSTANT TERM


*REMOVE COEFFICIENT OF 
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x



*COMPLETE THE SQUARE (when adding # to y times first)


*WRITE USING BRACKETS
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Complete the following table. Use the space below to show workings.

	TRANSFORMATIONAL
	STANDARD
	GENERAL
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	AXIS of SYM
x-coord of vertex
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	RANGE
y-coordinate of vertex
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Complete the following table. Use the space below to show workings.
	EQUATION
	TYPE
	VERTEX
	AXIS OF SYMMETRY
	RANGE 
	Y-INT
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